Space is like…

1. The spectrum of a star that is traveling away from Earth will be

a. shifted toward the red end of the spectrum

b. shifted toward the blue end of the spectrum

c. very bright.

d. very dim.

2. Which of the following stages of a star's life cycle will our Sun most likely experience? 

a. supernova and neutron star 

b. red giant and white dwarf 

c. neutron star and black dwarf 

d. nova and black hole 
3. Which type of galaxy is our Milky Way galaxy? 

a. elliptical 

b. circular 

c. spiral 

d. irregular 
4. The Sun crosses the celestial equator at two times in a year. This happens during 

a. spring and fall equinoxes 

b. summer and winter solstices 

c. spring and summer solstices 

d. spring and fall solstices 
5. The condition in which gravitational forces are greatly reduced is called 

a. megagravity 

b. microgravity 

c. negative gravity 

d. maximum gravity
Use the following information to answer question 6.


[image: image4.emf]
6. Numerical Response
List the parts of the universe given above in order from the part with the smallest mass to the part with the greatest mass.

	Smallest mass
	
	
	
	
	
	Largest mass


7. Which of the following graphs correctly represents the relationship between the orbit times of planets and their distance from the sun?
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8. A celestial object that is located 10( above the horizon in the northeast part of the sky has an

a. altitude of 10( and an azimuth of 45(
b. altitude of 45( and an azimuth of 10(
c. altitude of 315( and an azimuth of 10(
d. altitude of 10( and an azimuth of 315(
Use the following graph to answer question 9 (the y-axis should say increasing brightness)
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9. Where on the Hertzsprung-Russell diagram would you expect white dwarfs to be?

a. W

b. X

c. Y

d. Z

10. The switch from a geocentric model of the solar system to a heliocentric model suggested that planets orbited in ellipses rather than circles. What was the main problem with this idea? 

a. The model made the solar system seem too large. 

b. The planets revolve at different speeds. 

c. The future position of the planets could not be predicted accurately. 

d. The model did not match the data that had been observed in the past.
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Four Parts of the Universe


Solar system


Milky Way


Jupiter


The moon
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